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4 5 20228 20218 E _— Asan Az
o & a2 20of At = oAt S R =
e 65,691,603 98,163,309 -32,471,706
5000 ¢! 62,911,603 60,202,461 2,709,142
5100 5229 10,095,132 9,355,953 739,179
5120 =2 &s¢ 10,095,132 9,355,953 739,179
5121 7|24 =2 10,095,132 9,355,953 739,179
220109 2=Rstd th7|=Zd 2 (HEEY) 300,000
220110 2Q=RsHd 7|22 (3=0{stY) 3,430,132
220113 E=cCistd SN |22 42,000
220125 HARS7|H o722 =) 1,400,000
220130 Ogimsd |2 =2@HH) 4,659,000
220133 A|ZHHSEM thy|2zE 264,000
5200 MQGl7| 20l 45,674,646 43,577,304 2,097,342
5210 M=+ 3,500,000 861,800 2,638,200
5211 AAH|HYS 0 0 0
5212 HEBREFZ 1,000,000 161,800 838,200
220160 WHEHEMAFZ 1,000,000
5218 SEZ3ANMYS 2,500,000 700,000 1,800,000
220166 SEZJIAHYS 2,500,000
5220 7|2 242 1,181,000 1,689,308 -508,308
5222 A A= 1,181,000 1,689,308 -508,308
220173 WQIEEZ(2ZR) 178,000
220174 W Q|EHSE (RO 150,000
220180 7|Et X|H7|8=2 853,000
5230 T IEZ 59 38,993,646 37,026,196 1,967,450
5231 g8 35,124,803 33,130,858 1,993,945
220201 WS utE7|&& sHH|X| A3 4,139,651
220202 WS 0E7|&E SH|X| (=7 E) 17,600,000
220203 W S1Et7|& 8 SHH|X|(F7HEE) 3,295,152
220204 CHSt=0X| ALY 5,770,000
220211 W S1tet7| &5 st x| (CHRHE K| & 4,000,000
220213 W15\ &5 SHH|X| Y7 7He &2 320,000
5232 7|Et= XY 3,405,743 3,297,205 108,538
220206 7|Et =341 X|@F 3,405,743
5233 K| RFX| ChA| 463,100 598,133 -135,033
220208 XXX A X| = 463,100
ERZERET 2,000,000 4,000,000 -2,000,000
5241 At QI F 2,000,000 4,000,000 -2,000,000
220209 AstEFCiEQAS 2,000,000
S+ 7,075,121 6,793,269 281,852
5310 YAl+==E Y 2,363,049 2,480,485 -117,436
5312 =8 & 2,363,049 2,480,485 -117,436
220260 CHSt MEZ(5=A]) 1,448,309
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@ 3 = sojar =7 oA+ 549 MEZA ArEZH

220261 CHs M2 (A 265,000

220262 Cist MEZ(EHY) 350,000

220263 CHE MY ZE(ZIED 110,000

220264 2=REE Ytz 40,000

220265 CisHY MH=Z 59,000

220266 ECistel HE= 79,240

220292 AMR|uSY M= 11,500
5320 3 A B2 3,929,712 3,729,558 200,154
5321 3Y= 30,620 44,843 -14,223

220300 Cist MBYr= 30,000

220302 E=CiEHA NEY 2 120

220316 A2usSe NEY 42 500
5322 CHO{ 2 YA B 3,899,092 3,684,715 214,377

220330 YFgx sTH3IE 464,440

220333 ZHztxat MAEE 720

220337 WLHAIME AR 3,417,220

220340 2SA|HMEE 16,712
5330 7|EtuSE L5 782,360 583,226 199,134
5331 =2 A 156,420 158,660 -2,240

220350 CHSHY =& A A 115,000

220351 EOisHY =F A 41,420
5339 7|Etu S5l 625,940 424,566 201,374

220381 E=Ojgtd ngRijs 1,800

220382 7|Ef nSECj+ 360,140

220387 7|EfuSE Ll h 264,000
5400 182+ 66,704 475,935 -409,231
5410 O 20| Xj5=¢! 38,000 20,893 17,107
5411 Of 20| X} 38,000 20,893 17,107

220391 O|ZO0|XH2YH|=Y 3,000

220400 O Z0|RHUoIUT7|F) 35,000
5420 7|Etu S 2|2 28,704 455,041 -426,337
5421 &4¢ 8,704 435,041 -426,337

220413 BEACMHAZ 500

220415 %= E 0|82 ¢ 500

220417  7|Ef E=¢ 7,704
5429 ZTHE T3¢ 20,000 20,000 0

220420 UEME ZAEHOjQlZ 20,000
1200 £ XtQL7|EFRFAN 480,000 3,667,169 -3,187,169

1240 7|EfXtAb ¢

1242 XS Z3|$ 0 0 0
1260 §J9|7|201=42! 480,000 3,667,169 -3,187,169




4 = 20228HA = 20218 —
= g = 20of A =7 of At el
dolAd7|aolE 0 0 0
dolnxv|gouE 0 0 0
oy |afls 0 0 0
o7|E7| =& 0 0 0
UolEHEXI|F0E 480,000 3,667,169 -3,187,169
2,300,000 33,580,000 -31,280,000
1310 R DYDY ZH Q) 2,300,000 33,580,000 -31,280,000
EX|ojZtcy 2,300,000 33,580,000 -31,280,000
HS oz 0 0 0
HEM LS 0 0 0
2210 BRI 0 0
ESEIPN =P 0 0
2220 7|EF I ER] 0 0 0
2228 A|dE21|0X[ 24 0 0 0
OjAMEH 7|0 & X2 0 713,679 -713,679







O xlge &

SHER MY
20228tH 20218t -
T, 5 Eojy 27 oLy B Y i
65,691,603 98,163,309 -32,471,706
4000 H|8X|= 59,178,683 54,228,823 4,949,860
4100 B 15,001,520 14,925,153 76,367
HE 10,166,400 10,283,415 -117,015
4111 n S0 150,000 365,965 -215,965
230917 (m1) HIXAuY 85 150,000
4113 DAY 1,535,800 1,600,810 -65,010
230944 @ EYATX|AH| 1,200,000
230948 A Zpm<s ol | 12,000
230960 Z|Etu M 73,800
231004 (A|Ystahm X2 18,000
231005 H|HYud g HISEZ 95,000
231007 Ol2jusAnE Hot= 64,000
231123 CHSE ZALZ(Z DX H) 16,000
231124 Ojgn s Zxy| 57,000
4114 DAHHREZ 5,063,000 5,155,833 -92,833
231011 WY HSHEHIS 3,225,000
231012 w @ F0AFHEF 300,000
231013 W@ FOUALEHBEHZ 1,220,000
231014 W@ 18EFHCIZ 174,000
231106 W MIESHE 144,000
4115 A7tdolz 20,000 5,000 15,000
231122 CHS AZHZALE 20,000
4116 EHZLo= 3,257,600 2,963,578 294,022
231156 SYK|ZCHEY EYIY ZAIZ 46,200
231167 XD n S EAZEZALR 584,000
231169 CQlIZ0[usd Sradxt ZAz 1,520,000
231175  7|Et ZAIZ 1,103,200
231176  (=1,7|2)7|Ef ZAIE 4,200
4117 D YUE 2 F 140,000 192,229 -52,229
231191 W AE[XF 140,000
4,835,120 4,641,739 193,381
4121 2 Z0f 1,174,000 214,997 959,003
231008 (=:CHEE Al AR E 0 1,000,000
231254 (=1) AAs5 165,000
231258 (=) 2 AYFA|AH| 9,000
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i1 & 20228t 20218t E
= 5] = 2ot =7 oAt & i ik
4123 Z AN 55 642,760 630,914 11,846
231238 (Cf8) &Y Mg 1,200
231240 (Algtnh ] AN 67,560
231253  7|Ef 2@ Mg 400
231257 (Eth=) 2 AN -2 52,000
231259 (F)EQ ML 2,600
231261 (21X Y FtEg 1,500
231262 (=) QY ZgEZH| 1,000
231263 (=F)A Y FAZAlH| 1,000
231264 (m10)AY 2sH7M4E 1,000
231265 (Z10)2Y HESIH| 3,500
231269 (IPP=11) & 0I71H| 1,000
232244 A2 EYSHEX| L H| 510,000
4124 X HHRES 2,376,000 2,333,273 42,727
231270 X2 clgsEHF 1,300,000
231271 A ZUAZEFHHEZ 680,000
231273 E 3 mQlcigLEg 252,000
231274 %@ 1883 etz 108,000
231275 H A MHEHZ 36,000
4125 YA[ZI0124H| 622,200 1,243,939 -621,739
231267 (=) AYEA 85 600,000
231299 Ojgjn S AFREHZQ OIZAH| 22,200
4126 = 20,160 206,525 -186,365
231311 [20]Y8E 9 20,160
4127 A |2 0 12,091 -12,091
3,899,370 3,737,719 161,651
4210 A& 22|H| 274,429 218,569 55,860
4211 AXE32|H| 80,000 106,410 -26,410
231372 (HE 0w SetZ 7| dy| 80,000
4215 A|M89H| 11,900 101,230 -89,330
231452  7|E} A|H8H|(HIEEF 11,900
4216 22 12,689 10,929 1,760
231462 HE {8 HEZE 3,800
231465 7Z|Et 21T 2= 8,889
4217 B|A-URE 0 0 0
4219 7|EtA|E #e|H| 169,840 0 169,840
231496 7|Ef WL A|HE HX[H|(HISEZ 169,840
4220 LHt3|H| 28,491 69,037 -40,546
4221 OfH| W SH] 0 0 0
4222 RHFQX|H| 0 0 0




2022stA 2021stA
= 5 2ojy 27 o i i =
4223 A EH| 0 0 0
4225 \tt| 0 0 0
4226 T2 0 0 0
4227 EAIH| 0 0 0
4228 M M-=1t 6,591 5,596 996
231742 2= oioIs*zl 3| 1,700
231775 N335 =58 4,891
4229 X232 21,900 63,441 -41,541
231774 ZE 242 20,700
231784 7|Ef2E 1,200
4230 2 3,596,450 3,450,114 146,336
4231 22|=MH| 1,000 0 1,000
231823 WA ZAZXX|Y 1,000
4232 NS ZHH| 2,100 600 1,500
231851 Z|Et mE=HH| x| 2,100
4233 YHLEolH| 563,720 637,138 73,418
231873 ZE ALY ¥ 9| 425,400
231879 7|EtAIY 89H| 138,320
4234 7|12 AR FETIH| 0 0 0
4237 ZBHEH| 132,960 107,245 25,715
231938 Ojgins@ Zx S2H| 15,000
231951 UH7|Z & &5H| 16,960
231963 (HThamZ 1 Y SHH| 101,000
4238 3|9JH| 800 250 550
232005 mZAE|O| ZH| 800
4239 SAH| 82,790 10,802 71,988
232040 UTHEl &R 0] HH| 5,800
232053 7|E} A 76,990
4240 MmH| 0 400 -400
4239 7|Et2YH| 2,813,080 2,693,679 119,401
232143 (FILCHEHE M) 270 M-t 1,000,000
232151 7|Et2 | (ZHH| 12,500
232168 7|Et 2GHH| 26,160
232170 (=1)7|EF 2FZH| 493,500
232173 (Hoth=nSnyIld 29| 139,000
232174 (T 0)7|EfALY 2 EH| 104,000
232179  (HETH=0)AFQZALH| 35,000
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232180 (HEoh=xA|AHRISHO[X| = 36,000
232182 (IPP=11) Yt AH| 184,000
232184 (=11) YUSHAEE 7|E} Q174H| 155,480
232185 (=11) YSAPYEALY 2AH| 561,000
232186 (=11) YSAFE R A FH| 12,000
232265  (A|2tstah ALl G| 54,440
39,939,773 34,807,896 5,131,877
4310 ¢7LH| 2,850 600 2,250
4311 97| 2,850 600 2,250
232209 WSIFEINE A 2,850
4312 Sl 22|y 0 0 0
4320 St ZAH| 36,569,234 31,615,205 4,954,029
4321 nolFsta 32,067,687 27,892,650 4,175,037
231403 (HEha o) Hoba axsta 100,000
232350 CHst weldsta 134,000
232351 Cfst weldsta 150,000
232352 CHE woEstF(UTI|S) 146,000
232354 (ZALCHEtE L) Faztstg 1,000,000
232360 LCHSHY moEsta 20,000
232362 LCHSHR o &g (UH7|F) 18,000
232372 EOEHY noEEF(UNMI|Z) 55,400
232381 (Z1)CHst 211 &t 4,742,611
232382 CHEt =3 nEsH=IHEEH) 17,600,000
232383 CHEt = &SR IIEED) 3,295,152
232384 KWK CHA| &stz 97,100
232385 CHEHR oSt 346,924
232386 (Z11)7|EFEA 2 aAES} 42,500
232388 CHSH = W ESHECHAFA K| ) 4,000,000
232390 CHSH = 0 gsh(= 71k st2-Qlsta) 320,000
4322 WLjES 680,000 720,180 -40,180
232422 (EH™7|Hoiudsa 50,000
232486 HAHNS7|H & 150,000
232487 QI20|2jn s &t 480,000
4323 AEASH| 1,791,680 735,570 1,056,110
232625 ZtE LTI AL ZH| 477,880
232626 ZAMMESTIHAH|(EHE) 111,000
232627 7|Et HEAMEHH| 88,000
232628 (=) 7|EtH&ZH| 6,800
232634 SEXZRCHEY HYMGH|(EEXT) 108,000
232642 (ZI:CHSHE AN AE AL ut 1,000,000
4324 =2MAE 158,420 159,200 -780
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ot 20225t 20218t
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232700 CHSHY =2 A AH| 115,000
232702 EUEY =24 A 20,620
232703 AMACHEHY =2 A 3,600
232708 SEKZCfEHY =2 A AHH| 17,600
232712 M3 EX|CHSHY =R A A 1,600
4325 SHAX| 9H| 432,434
232747 Oj2jug g SHEX| ZH| 12,600
232759 2sM SEXF (I, X|XHA) 140,000
232760 2sds SYXF (LMD 44,000
232764 SEH| SALH| 30,000
232800 SHUSX[H 2FH|(SX|ALE) 32,007
232804 Q= QIRstd HEz 74,100
232820 BHMX|Y ZH| HISEF) 73,990
232834 (BEt=a)EEXEH| 20,000
4329 7|ElstE ZH| 1,675,172
232191 (m:OjEE i) ngrjued- 1,000,000
232906 Z=HEX| el EH| 19,750
232947 [=1)7|Et K| 4H| 420,000
232981 SHAZEYEH|ZH| 5,000
4330 YA|Z2|H| 3,192,091
4331 A|E 1,090,702
233100 CHEH A=Al 554,950
233101 CHsH LA EEA) 122,200
233102 CHSH UA|I=THE Q) 171,000
233103 CHEH YA (Z|EH 83,400
233106 =32 &Es Y 35,000
233110 CHEHR YA 33,000
233111 ECiE A|g 49,894
233114 Z30|=CHstd LA 7,348
233128 QIE02fuS e AT 10,800
4332 YAl 4H| 2,101,388
233150 CHSH YA T ZH|(==Al) 333,997
233151 CHEF LA|ZIHZAH|(HA]) 41,000
233152 CHSH YA|TIHAH|CEHY) 120,500
233153 L{st YA A H|(7|ER 56,600
233154 Ofjst 4B LA+ 165,000
233157 CHEHY AT ZH| 15,300
233159 E=CiE YA TG 13,520
233160 AHACHEHA AT ZH| 7,600
233176 QlZ0jEngd YA|XIHAH| 14,600
233179 3™ o2Es ZH| 700
233180 YA|H YT ZH| 60,000
233184 YshEE 3|9 AH| 6,000
233185 AlIJMCHSH ST Z 02 HAH| 3,250
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233187 St T E/atg| ZAH| 778,000
233188 QUA|ZZIZ X ZHd| 80,000
233189 Cist =d 9 = 60,000
233193 LCHSHEIES] ZH| 55,000
233199 7|Et 8H8 S HE H|E AH| 10,000
233202 CHSHUAIZ (AR, EHX], QIE ) 65,000
233204 CHSLAIZD (CHRAYEB ZHE] 190,000
233208 CHSHRl =& (L2HX[Q)) 10,000
233209 S=ME0NEY 2y (Y7ER Q) 10,000
233211 E=c0istY 28 SEH| 6,720
233213 E=ciEt YAISEH| 2,310
233214 O2inSe (YK Q) 195,000
4400 1 QH|& 138,020 558,055 -420,035
4410 X| 20| X} 37,000 0 37,000
4411 X| 20| X} 37,000 0 37,000
233289  AISHEIS T O| XM EHEEH 37,000
4420 7|Et RS QH| & 101,020 558,055 -457,035
4421 TaA 101,020 558,055 -457,035
233304 7|Ef T&EA 101,020
4600 Of/H[H]| 200,000 200,000 0
4610 Of|H[H| 200,000 200,000 0
4611 Of|HH| 200,000 200,000 0
233336 OjjH|H| 200,000
1200 FXtRt7|EFXFALR|Z 850,000 26,934,116 -26,084,116
1260 9|7|2X g 850,000 26,934,116 -26,084,116
1262 Yo|AHRI| S X E 0 4,000,000 -4,000,000
1263 Yo|A%7|12HE 0 19,480,000 -19,480,000
1264 o|%st7| 2 E 0 0 0
1266 YO|7|EL7| 2 E 0 0 0
1268 U EFEXT|FH 850,000 3,454,116 -2,604,116
230580 Yo|LH7|Z HME 800,000
230581 o|UF7|Z o S0lAt HE 50,000
1300 DA ON IX| &= 1,867,160 16,697,619 -14,830,459
1310 S I ERAOf K| = 1,867,160 16,697,619 -14,830,459
1311 EX|Of 8| 0 0 0
1314 7| A 7| Tl 4] 130,000 3,301,291 3,171,291
230690 ZIEFZ|AH7|F (HISES) 30,000
230695 (FEH=)7|ELZ|A 7|7 100,000
1315 & 7|H| S0 H| 7,000 331,612 -324,612
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230763 AIR 8 M/HZHSE) 5,000
230774 (EEH3)7|EHETIH|E 2,000
1319 AMIHAH 1,730,160 13,064,716 11,334,556
230814 ZAXZAHH|(H|SE3) 1,730,160
2100 R x4zt 3,700,000 0 3,700,000
2110 CH7| X1 SAks 3,700,000 0 3,700,000
2111 SH7|XH 2 At st 3,700,000 0 3,700,000
230840 E7|X IS AE=E (B 3,700,000
2200 DY SR A st 95,760 302,751 -206,991
2210 H7|Xt 2 A&t 0 0 0
2211 H7|X Y S Akst 0 0 0
2220 7|EF DG 2l At 95,760 302,751 -206,991
2228 A|[d=2&10|X|Set= 95,760 302,751 -206,991
230890 YUFYPAA|HE2D|0|X| 282 95,760
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